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3
/1 (sin6) do = 77

(a) (cosO) + C
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degree in x of
X
/O (5t3 + 2t — 1) dt

(a) 1
(b) 2

(c) 3

(d) none of the above
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degree in n of
n

Y (557 + 25 — 1)

j=1

(a) 1
(b) 2

(c) 3

(d) none of the above

0% 0% 0% 0%
Correct answer: 4 . 5 . X
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XL
/ COSt dt]
1

(a) —cosx

(b) (sinl) — (sinx)

(c) cosx

(d) none of the above
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d | 1 ]
— / costdt
dx |Jz |
(a) —cosx
(b) coszx
(c) (sinl) — (sinx)
(d) none of the above
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(a) -+ [(F@)® - (F@))?]

(b) = [(FG®)) — (FG2))]

(©) = [(FE™)(5e*) — (F(22))(20)]

(d) none of the above
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FI(t) = et

= (F@®)  (F@E2)

(a) (F'(z>)) — (F'(z?))

(b) (F(2°))(52%) — (F(2?))(2x)

(C) (F'(z°))(5z*) — (F'(z?))(2x)

(d) none of the above
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157 = (5)(In5)
f 22 4+ 5% dp = 77

(a) 224 (5")(In5) + C

3 5L
| |
(b) 3 ' In5 | ¢
23 patl
| |
(C) 3 rz+1 ¢

(d) none of the above
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nth midpt Riem. sum

1] 1.14G/m)
(2) jgl ['”’] { | for /12 e’ dx

(b) Zij H e1+G/m=/m)]

~ 1 (/n)—(1/(2n
@ & [ om-ore

(d) none of the above

0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 ] 3 37 ] 38 | 39 | 40

6
0of 5 Topic 0590 O pts H




n | nth left endpt Riem. sum
(a) 3 P] LGi/m)] Pr
for/ e’ dx

1

(b)jzizl E] 1+ (/)= (3/m)

~ [3 (35/n)—(3/(2n))
(C) j;l [n] 135/ =(3/(2n))]

(d) none of the above
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nth midpt Riem. sum

(a) i [é] A/ A
j=1 " for/

1

et dx

hy 3= [3 (35/n)—(3/(2n))
(b)j;1 [n] 1 (33/m)=(3/(2m)]

S

(c) Z [ H1+<3;/n> 3/m)

(d) none of the above
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(a) nil F] [(2 + (4j/n))5] nth left endpt Riem. sum
j=0 n 6 .
for/ > dx
2

(b) X || [@+ @i/n) — (4/m)°)
j=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above
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n—1

(@) Y H (24 (45/n))°] nth right endpt Riem. sum
j=0 " 6 .
for/2 x> dx

n—1 4
(b) X H (2 + (4§/n) — (4/n))°]
j=0

n—1
(©) X [} [+ @im + @@’
§=0

(d) none of the above

n—1 4

Z [_} [(2‘|‘(4j/n)+(4/n))5} 0% 0% 0% 0%
/=9 - S Y o N
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(a) nil E] [(2 -+ (4j/n))5] nth midpt Riem. sum

— 6
=0 for/ > dx

n—1

(0) Y [2| [+ @i/m) + (4/2m))°

j=0 "

2

n—1 4

(© X 5] [+ @im - @m)®
7=0

(d) none of the above
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g(9) = -3, ¢(9)=-8

Linear approx. to g(x)
at x = 97

(a) 922 — 8x — 3

(b) -8 — 3(x —9)

(c) =3 —-8(x—9)

(d) none of the above
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T or F:
f:(1,3) =2 R

f' pos on (1,2),
—

(a)

True

(b) False

f'(2) =0,

f' neg on (2,3)
f has a global max at 2
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Newton’'s method formula
to solve z° + 23 =

5 3
xy +x;, — 4
a)x — 1, — 2 n
( ) ntl " 5:1:%4—33:%
5_|_$3
D) z =z tn n
( ) ntl n+5wﬁ—|—3az%
5 3
x> + x
(C) tpp1=an— o 52"
" 5x% 4 3z2

(d) none of the above
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